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. GEE (ATE3 /MG, HP27TF4 5, 288 4, 298 &3, #£20 %))
27. f#: (1) m=61=6x10"kg
G =mg =6 x10’kg x I0N/kg =6 x 10*N
(2) F=G6G=6x10'N

_F 6><10N —4 % 10°Pa
TS T 0. 15m?

28. fi#: (1) Vy =V, =200cm® =2 x10 *m’
Fy=py gVy =10"kg/m’ x I0N/kg x2 x10 *m’ =2N
(2) G=F; -F=2N-1IN=1IN
(3) TWide 1), ARPLPF, HAETE
F'y =G=IN

’ F"i% IN =1 -4 3
m

V', = = =

o g 10°ke/m® x 10N/kg
29. fif: (1) VWAL b, W2 B humtgsh 1 36
W, =Gh=150h; W, =Fs =60 x3h =180k

Wy 150h
"W, 180h ~83.3%

(2) (1) f%
AT R

1

Gy =3F -G =3 x60N - 150N =30N

G' +G, 300N +30N

W 6" =300N i, F' == == = 110N
PR B E N ;v = % 3 IXOZ““ -0, 6m/s
S

SRR P=F'v=110N x0. 6m/s =66 W
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